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Hindi and English/ersion
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Time : 3 Hours Maximum Marks: 100
IRERIE

1. 4l ged B HRAT AR B |

2. U A Y T e AegEYde Ugd] Hel Sk [elkay |

3 UG Uy & iR sid v & I iy T 7|

4. U . 01 W 05 T I UhR & U 37 T 7|

5. U . 6 9 24 ¥ aaRe fabey o T B

6. IEl 3MaYUP &I, WS AMifhd NI a5 |

Note:
1. All questions are compulsory to solve.

2. Read the given instruction of Question carefully and write Correct answer of
them.

Alloted marks are Indicated infront of each question.
Question No. 01 to 05 are objective type questions.
Internal options are given in question. No. 06 to 24

Draw the neat and clean labelled diagram if necessary.

e IR FAdR faRay: 1%5
Choose the Correct Answer :

() <7 Rl BT AT 25 3R 3R 7 B dr 9 Ay Bhfl

(@) 203k 5 (b) 183iR 7

(c) 153k 10 (d) 93iR 16

If Sum of two Numbers is 25 and its difference is 7, then the numbers are :
(@ 20and5 (b) 18and7

P o O &~ W
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O AR
(c) 15and 10 (d 9and16
(i) x=7yH x99 d BTG ATy & A9 03IR 17 :
(@ =7 (b) 0,-7
(c) 0,7 (d) 3,7
In x =7y, find the value ok if yisOand 1 :
(@ =x=7 (b) 0,-7
(c) 0,7 (d) 3,7

—Ay¥2 _
@qﬁmwigfﬁmﬁwﬁw

(@ 6 (b) 7
() 2 (d) 4
. . x' —6x2 -2
The degree of Numerator in Rational expressior, -~ .
(@ 6 (b) 7
(c) 2 (d) 4
2 2
(iv) o v X ek X granr e
X—-2 X—2

X2 2
@ = () v

2x° . .
© s (@) &7 P T

. . x2-1 X2 +
Sum of Rational expressions— and are.
X—2 X—-2

X2 2
@ = b) 5

2%?
(c) 2 (d) None of These.

(V) 36 3R 49 P AATIUKR @ :
@ 6 (b) 7
7

(c) 42 d) 5

IND-P-10 (2)
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The mid proportion of 36 and 49 is :
(@) 6 (b) 7
7
(c) 42 (d) o
2. W [ddeu gaaR Ul ScR—gRaeT H ferRay: 1x5=5

Choose the correct option and write it in your Answer-book
() TS AFR @ MR ¥ 20 Hiex & g W HAR & RRER BT I~ HIT 45° %,

(@) 10#rex (b) 20 %R
(c) 40 ¥R (d) 203 #Hrex

If at the distance 20 meter from base of a tower the angle of elevation of top of
the Tower is 45°. then height of the tower will be :

(@ 210meter (b) 20 meter
(c) 40meter (d) 203 meter
(i) TP 99 BT A 14 9L TJAT Sa1s 7 A1 B, T o Bl A ¢
(@) 7T . (b) 343t o9 I
(c) 49 = . (d) 443t o9 I
If diameter of a Cylinder is 14 cm and its heightis 7 c.m., then the volume of the
cylinderis:
(@ 7 cc. (b) 343t cc.
(c) 49m cc. (d) 443t cc.

(i) TG Mot BT AT Il 8

4 4
@ 3m(rj?+r?) (b) Sm(r?—r7)

© (2 +r?) @ 2 -r2)

Volume of hollow Sphere is
4 2 2 4 3 3
(@) gn(rl +17) (b) gn(rl —r2)

(© (e +r}) @ (e -r?)

(iv) af dfa Uerorf x, x +2, X +4, X + 6, X + 8 &I AT 11 & AT X B A 8N :

IND-P-10 (3)
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v)

(i)

(i)

(v)

v)

(@ 5 (b) 6
(c) 7 (d) 8

If mean of five observations x +2, X +4, x +6, X +8is 11, Then the value of
xwill be.

(@ 5 (b) 6

(c) 7 (d) 8

TP T Bl BT TR 4 3 99T 3 31 B UT¥rhdr s :

@ (b) 3

© ; @ &

On tossing a dice the probability of getting digit more then 4, will be.

@ (0) |

© ; @) ;

Rad w1 &1 gl ST 1x5=5

Fillin the Blanks :
I &1 RSl @ A DI a_IER 8 A 9 BReT .. PEAT T |

If Corresponding angle of two triangles are equal then, triangle are .......

31 FHEY Sl & &ahal BT JTguTd 9 : 16 & Urd H BI, Al 39 RSl &I
AT TN BT STUTT ... BT |

If Ratio of area of two triangles is 9 : 16 then ratio of their corresponding sides is

Compound interest is ........ then simple interest.
fepell Y IR, A YA BRI A o Bl 2|
Amount paid in instalments is .......... then the cash payment.

f=feIRad &1 FeI—sifedl 918y 1x5=5

IND-P-10 (4)
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(31) @)
1 L + : t0
' seéB  cosec’d co
sin (90° -0) tarrd
seéd — 1 co®
4. \V1- cog 0 1
cosecB )
5. od sind
Match the correct pairs :
(A) (B)
1 L + : t0
' seéB  cosec’d co
sin (90° -0) tarrd
seéd -1 co®
4. V1- cog 0 1
cosecH :
5. od sind
5 fy=foRaa & 9 /3 Bicar il 1x5=5

() o TR &7 fAfdedam: oS B A qof aRdfdd B 2 |
(i) afe <1 gt @ B T B @ 7 g Al aE 8 |

(i) T BT AT I AT BT BEArh 7 |

(iv) <reRgue # fART BIvT =T HIT BT B |

(V) I B FAM AN des IR AN BT JART Bl 2 |
Write true or false in the following :

() If discriminant of quadratic equtions is positive then its roots are real.

() If the Radii of two circles are equal then the circles are congruent.

(i) The largest chard of a circle is radius.

(iv) The angle formed at major arc is an acute angle.

(v) Equivalent chords of a circle subtends equivalent angles at centre.

6. el ww@IoT B § Hof BT AW 5 FHL © | SADI AT Yolr3il BT U 1
2 B, D YoIRA BT 7 S B | 2

IND-P-10 (5)
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@BYUs
S If hypotaneous of a right angled triangle is 5 cm. and its remaining sides are in
Ratio 1 : 2 then find values of sides.
3rerd1 / (OR)

r{st ABC s |Afgag Pryel © s AC = BC afa AB? = 2AC? @1 g
RIS BT ABC U FHSIOT 37T B |
AABCIs an Isosceles triangle in whiéi€ = BC.if AB?> = 2AC*then prove that
AABCis right angled triangle.

7 a1 9w ST ABC @2 3T PQR & | §77d &1F%al ShHel 64 12 =T
121 9912 § | afe QR = 15307 I 9ol BC &1 A AT &1 | 2

If AABC andAPQR are two similar triangle. its areas are respectively 64 cm
and 121 cra If QR = 15 cm. then find value of side BC.
31e1a1 / (OR)
foft f3rqst ABC @1 4oiT AB # 3ia:fa=g D 391 YR & 5 AD: DB = 3 : 2 ¥l
BC # fa5 E 39 UaR & f& DE/AC 8 aI 919 91d difog—
AABC®T &5hd / ABDE & &F%hel

In internal point D is in side AB of aAABC is such that AD:DB=3:2. A
point E is inside BC. such thatDE//AC then find value of Area of AABC /

Area of. ABDE

8 20 Hick T Udh A Udh I dl Ragd! dd ugdad! g S A & 15 Hiex &
S8 W T, 999 ¥ A & e RR 31 &0 S1d ST | 2
A 20 meter long ladder reaches upto window of a building which is 15 meter
high above the ground. Find distance of lower end of ladder from foot of building.

3rerdr / (OR)
e G 39 TRE < TS SABT e RRT faR 9 5 Hier @ W ® 3R
BT S RRT T A 10 Hiex S0 Rasa! ddb rdr g | 9T &1 o Ts Sid
DI |

A ladder is placed in such a way that its lower end is at distance 5 meter from
wall and its upper ends reaches at a window which is at height 10 meter from the

ground. find length of the ladder.
9. ARG 4 7 xTd 10 &7 Ay 8 B, AT X &I A A DIFOTT | 2
If mean of 6, 4, 7xand 10 is 8 then find value »f
31erar1 / (OR)
ferferRaa Al @ ArfegadT sia BT
15 35 18 26, 19 25 29 20 27

IND-P-10 (6)
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Find the median of the following observations.

15 35 18 26, 19 25 29 20 27
10, TdH URT @I B R T 3fh A &I WIRIHdT S BTy | 2
find probability of getting even digits on throwing a dice.
31e1ar1 / (OR)
ST RIadT BT U 1T BT UR T RIadh] IR S 31 BT TR dT ST HIfoTY |
Find probability of getting head on both if two coins are tossed.
11 HIPRT §eT DI : 4
Solve equation.
x=-2y=1
33X +4y =15

31era1 / (OR)
= FHHRT B BT g DI
X+2y =-
2x -3y =12
Solve following system of eqution.
X+2y =-
2x -3y =12
12 a &1 A A1 difoe e fog e ax+y =5, X +y = 1 &7 Afgd
TA T 4
Find value of d&or which the system of equatiosx +y =5, X +y = 1 have
a unique solution.
31era1 / (OR)
&1 HERI BT ANT 7 7 | IS SAHT ANT $99@ AR &1 7 AT © I A& Aid
DI |

The sum of two numbers is 7. If its sum is 7 times of its difference, then find the
numbers.

X+y
X=-y =

13 3fg ;ﬁ,ﬁx:ywwaﬁwz 4

X+
Xy

It oy = % then find the value of xy.

IND-P-10 (7)
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14

15

16.

31e1a1 / (OR)
z@»g:g 21 o Rig o9

etf b
?+d®>  d?
if 2 = g then prove that% = ZZ.
FHIHROT X2 + 3x —18= 0 I UrEvs AT & g BTy | 4
Solve following equations by factorization method :
X+ 3x-18=0
31141 / (OR)
ferforRad T iexoT B = faftr 3 gar AR

K- = (-8)

Solve following equation by formula method.
3
3X — 3 - (—8)

gu H§ G UP AN B BT, SFH! Hdls &1 3 T &, al 99 G99 I &
S~IA
PIOT RIT BRIT? 4
If shadow of a person standing in sunlightgstimes of his height, then what
will be the angle of elevation of sun at that time.

31erar1 / (OR)
fBdl fa=g 9 200 Hier &1 g R Rerd Al SfaR & MY B I=1IT DIoT 450
21, Al SR T Sale Sid Py |

The angle of elevation of the top from a point 200 meter away from the tower is
45° find the height of the tower.

I a R, b TISTS 3R ¢ AR dTel T4 &1 Ia V Tl 970 IS S &

T‘ﬁﬁ‘I@W% 4
1 2 1 10
v shb e

A cuboid of length a, breadth b, and heightas volume V and Surface area S,
then prove that.

IND-P-10 (8)
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17.

18

19

1_20t 1, }D
\Y SBg
3rerar / (OR)
Uh Il T MId 207 89 A9, AT TP IR BT &% 4T I T4 8 59
doT T Y3 ST DHIFSTY |

Volume of Cylinder is 21 Cu.cm. and its area of the bageSh. cm. Find out
its curved Surface.

4 I e 3T 3R 2 9. 3raRe f3ear dTel WRgel el &l fUgeax 8
. A B g H uRafia fHar mar 2| wg B Hars A DI | 4

A Hollow Sphere of outer radius 4 cm. and Inner radius 2 cm. is melted and
converted into a cone of diameter 8 cm. find height of the cone.

arerar / (OR)

I S et e 3sard sy 3 99 4 99 @ik 5 99 8 S fUudiiex
T AT SE-IT AT | Tl D F39a1 U I Sd BTy |

A solid Sphere is made by melting three solid spheres of radii 3cm., 4 cmand 5
cm. find the radius and valume of the solid sphere which formed.

TUIRIUS HIFTT: 5
alb+c)+b¥c+a)+cXa+b) + 3bc
Factorize :
a’b +c)+b*c+a)+c*a+b) +3abc
31e1ar1 / (OR)

W@’Eﬁﬁ?:

X(y*+2) +y (@ +X) +z (¢ +y°) + Xyz

Factorize :

X(Y+2Z)+y @+ x)+z(x*+y) + Xyz

2000 %9 BT 10% Ul =gl TSl @ &% I 2 g9 BT 5789 T dehgly &aTel
ST BITTY | 5

Find amount and Compound interest of Rs. 2000 after 2 years. at the rate of
10% per annum.

arerar / (OR)

U%Hﬁ‘s‘ﬂ?f?;ﬁrﬁﬁl—% AT BT SICT ©, Safds &Tst &1 T arfies <1 T8 2,

ar Fehglg TSl B (T &R S DI |

IND-P-10 (9)
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. 216 . . . .
If a principal becomeﬁ5 times in 3 years, when interest is calculated yearly
then find rate of interest of compound interest.
: 50 .
20, TP WA 3R SHD ISHA BT AN T | WA ST B | 5

. 50 ..
Sum of a number and its inverses. find the number.

arerar / (OR)

U AT 3N IHD cgcs:bHEFf?iﬁ"T]Z 2, AT ST HIFY |

Sum of a number and its inversea-ys find the number.

21 TS RS &1 YT 4 91, 6 I, SR 8 W B | 39T uRid g @ity | 5
A triangle has sides 4 cm. 6 cm. and 8 cm. Draw a circumcircle to it.
31e1aT1 / (OR)

U FHdg BS @ sraddd g Wi, St o g Yo 8 WHL B | g @
2rar @1 /19 S1d BT |

Draw in circle inside an equilateral triangle whose sides are of length 8 cm. find.
measure of radius of the circle.

22 g o b 5
cosecA cosecA
cosecCA—1 cosecA+1 2 setA
Prove that
cosecA cosecA
+ =
cosecA—1 cosecA+ 1 2 setA
grerar / (OR)
THIARIT § DIOTY
3co€0 3co€0
+ =
cosed®+1 cosed -1 6 co®
Solve the equation
3co< 0 3co< 0
co L — 6 co®

cosed®+1 cosed -1

IND-P-10 (10)
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Prove that the sum of opposite angles of a cyclic quadrilateral is 180°.
31erar1 / (OR)
& PAB U g @1 ©adb Y@ 8, Sil gad bl fag3ll A 3R B W Hredl © defl
PT w3 vargvs & | Rig &)1 & PA. PB=PT
If PABis an intersecting line of a circle which intersects the circle at A and B.
Prove thatPA.PB = PP
24, 9 §eq &1 AT T a9 6
CRIGN 0—-10 10-20 20—-30 30—40 40-50
3frg fea 7 10 15 8 10

Find the mean of the following distribution.
Class interval0— 10 10-20 20-30 30—40 40-50
Frequancy 7 10 15 8 10
31eraT1 / (OR)

TY 1996F MR IY ATHY U HeIH I URIR & goic I FferRad SR
® AER W Y 1999 F1 g Td Gadid S1d HIfo |

IEq AT (SBTE) Iea ufd gars (B9 H)
1996 #H 1999 #

A 8 22 25
B 2 35 40
C S 3 30
D 15 20 25
10 15 20

Assuming 1996 as base year find Survival expenditure index of year 1999 based
on the following informtion of budget of a medium class family.

ltemsQuantity (unit)  Price per unit (IN Rs.)

In 1996 In 1999
A 8 22 25
B 12 35 40
C S 25 30
D 15 20 25
E 10 15 20

IND-P-10 (11)
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3fh  TToll

Mark Dirsbution 2013-14

H. %. ghly U9 [AUY I SHls W I 2 3 4 5 6 &d
rgfed UId A H AD AD JADb Ad gIA

<G 131
1 T =R IRRN & Rab T 10 2 - - 2 - - 2
2 dgue Ud URAA &oid 7 2 - - - 1 - 1
3 AT T FHIFAT 5 1 - - 1 - = 1
4 T FHIHROT 10 1 - - 1 1 - 2
5. qforsy TTford 8 3 - - & _
6. ey e 8 2 3 W SEEESe. 3
7. g 10 4 - = - =1 1
8. RERILN 5 = = _ B . O9%
9, IECILIEII 10 5 - - - 1 - 1
10 %A g gl 5 1 ¥ "\ -
1 GEITIN] 10 2 XY 2 - - 2
12 AR BT UTRIesdr 12 2 2 - - - 1 3
T 100 25 5 7 5 2 19+5

IND-P-10 (12)
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Model Answer
Set-C
TioTd

Mathematics
Maths Xth
Objective Type Question

ggfadmedia  ue

ST=.1 () (d) 9, 16 1x5=5
(i) (c) O, 7
(iii) (b) 7

2x2

X—=2

(iv) (c)

(v) (c) 42
ITR.2 (i) (b) 20 #Hiex 1x5=5
(i) (b) 343 as A

(iii) (b) 370 (2 -r)

(iv) ()7
(v) (©) 3
ITIR.3 (i) FHBY 1x5=5
(i) 3:4
@iy 3%
(iv)  3f¥r®
v) o
ITIR.4 (i) 1 1x5=5
(i) cos 6
(i) tan? O
(iv) sin®
(V) cot 6

IND-S-10 (1)
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EhEIE .
+TIR.3 (i) A
(i) q
(i) ™™
(iv) ™
v) w3

g¢li6.

gl

1x5=5

fear & 99T AABC S99 @i AC=5 399, 3R AB, BC=1:2

A

B

H

0 AB = 1x 3R BC = X
AABCH TSR W9 9
AC? = AB? + BC?

0 52 = (X)2 + (22

0 25 = X2 + 4x?
N 25 = 5¢

2 _ 25
] X_E
0 X2 =5
W X= 5
O AB= x= 5 I
0 BC = 24 = 2/5 99

A (OR)

fear ¥ AABC o

AC = BC 3R ABR? = 2AC?

IND-S-10 (2)
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C
Rrg & & AABC U& wwaIv el 2

AB? = 2AC?

AB? = AC? + AC?

AB? = AB? + AC? (O AC = AB)
3kt AABC U HH®IUT ST & | 1 3

gd:7. AABC ~ APQR

& (MABC)  BC2

S(APQR ~ QR
P
A
R
B C Q 15949]
64 _ (BC) .
L T (15)2 1 3h
o 64 _mBcy
121 ~ His 0
64 _ BC
- 121 - 15
8 _ BC
. 11 15

IND-S-10 (3)
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_ 8x15
0 BC = T
_ 120
0 BC = i1
0 BC = 10.9 9. 1 3Tk
spEr (OR)
go: fer g AD:DB=3:2

0 AD = 3
0 DB = X

AB = AD + DB

=3 + X = 5% 1 3fh

B
D E
A (€}

AABC 3R ABDE #

OB = OB (SIS PTON)
ik [OBAC= OBDE (O DE || AQ)
ard: AABC ~ ABDE

AABC &T &hol _ AB?

ABDE T &3%he]  DB2

G-

o202 T 4
o % 1 37

4

go: 8RR, ABUd WGl B, fordr Ul RRT 99 AC @1 Rasar A

d® Ugal 2 |

IND-S-10 (4)
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159, 2071

cld

X B
JAER - AC = 15 /i, AB = 20 4,
qET waq ¥ Aigl @ Feel RN @ g9 BC = X HIiex
FHDpT  AABC #
AB?=AC? + BC? 1 3%
(20Y=(15y + x°
400=225 +x2
x2=400 — 225
x2=175
X= 175
X=[5x5x 7
x= 57
A W W Wigl & e RR &1 &1 = x= 57 AL 1 3
sprEr (OR)

gol: e 8 ABUs W 2 e oo o= dlar AC & Rasdr A9
fetar 81 @M1 & AB = x

A

O 0O O O

109,

cl

5, B
JAgAR AC =104, BC =5 41,

IND-S-10 (5)
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BBYJUS AACE 3
AB?=AC? + BC? 1 3i
O X2=10% + %
U x2=100 + 25 = 125
X= 125 = /25x5
x=55
3 W AB= x = 55 # @l ¥ 1 3id

SX
B OV — WEA =

_ 6+4+7+x+10

l 8 5 1 3ih
0 8 x 5=27 +X

0 40=27 +x

l x=40 — 27

0 x=13 13

sear (OR)
gA: UGl Pl AR HH H WA W
15, 18, 19, 20, 25, 26, 27, 29, 35 13

T8 Ul B =T n =9
_Dn+1|] .
Iw@aaﬂ-ﬁ7z—a d gg &1 "
o+10] -
=05 H d ug &1 9=
=54d Ug &I 7
] =25 Ans. = 25 13[&%h

TF10. ISl & Gl URUH B G = 6
HH 3P I ATl AJhel URUMEI B F@T = (2, 4, 6) = 3 137h

IND-S-10 (6)
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1 1. .
=3 Ans. > 1 3h
sear (OR)
gcl:  °UeAl P ol URUET Bl AT = 4
TFl Rgdpl &R Uh @Y TS MM @I e = 1 1 3id
| Il aRoITHT T A
3d: e uipar = 3o TROT 1
_ 1 1 .
= 2 Ans. 2 13D
gd:11 fod T I
7x — =1 (1)
3x + 4y=15 (2)
TR (1) |
7x — =1 @
Il x=1+ 2y
_1+2y 1 .
X=— ..(3) 1§3R5
THERT (2) § x BT A ufoRenfid e W
2
0 3ﬁ¥ﬁ+ 4=15
0 CAko A ST
7
O 34y + 3=105
O 34y = 105 — 3=102
_ 102 _ 1.
U y = 34 =3 15 3Hh

T B Hy=33@T W

[

U x=1
e 87 x=171Td y=3 &N 1 3

IND-S-10 (7)
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sear (OR)
g e mar wHexe e g
X+ 2y=-1 ..(1)
2x — =12 -.(2)
AR (1) ¥ 3Td W (2 H 2 BT O R W

3x+6y=-3
4Ax—6y= 24
7x=21
= gL—3 11
X= 5 3
TR (1) # X = 38T W
X+ 2y=-1
O 3+ y=-1
O y=-1 -3
[] Zy:_4
: _ 4
B
1
] y:(—2) 1§3R5
e 8l X=3 @ y=-2 137h
g12 ¥ W™ THexe -
ax+ y=3
X+ y=1
Jgfay = a, b, =1,¢, =3 1 3fh
a,=3b,=1¢c=1
THHROT B BT Sffgdid & 8NN
a b |
afg D 1 3%
a b,
0 2,1 13
371 o

IND-S-10 (8)
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Il a #z3

O a 01 (where az 3) 1 3%
R (OR)

g WM T G X3ROy T

PSR X+ y = 7....(1)

T A SRR
X+ y)=7 x K-Y) 1%
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